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* 2 irreducible components of dim¢ = 0, with total 57 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-

fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).
2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated

in decimal forms when there is not enough margin.
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It = (—uP® —u* 4. .-+ b—u,

(i) Arc colorings

= 0)

u50_u49+.'_+a_1, u52

o= ()
—uP0 P+ —2u 41
az = u50—|—u49+ _|_2u2+u
1
a7: u
u9—|—2u +ub =23 —u
asg = —u? —3u" —3ud +u
o= (')
a; = (u + u? +u>
— 46 c—u? = 2u
ag = u9_u48_|_ +6u4—|—2u2
0= ()
u 6 _ut+1
as = \yf —|—2u +u?
WP — 94— 22 — 2y
ag = \ —¢b —|—u49+ —u? 4 2u?

A N Yy
as = \ b Jru49+ 7u3+
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u®! + 5050 + - ..

2u
2u?

I.

+2u—1

—2uPl 4. tu—1)



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,Cy W —6ut -+ bu—1
C2 u? 4220+ — 1lu 41
3, Cr u? + 0Pt 0 — 23202 + 32
cs5, €8, Cy w? — 2 4 — 250 — 17
C6, C10 w2t e —u—1
c11 u’? —30uSt + -~ Bu 41




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,C4 P2 =22t 4 1ly + 1
C2 Y2 422y 4 — 349y + 1
3,7 y°% — 33y° + ... — 14848y + 1024
Cs, C8, Co y°% — 58y° + .- — 2291y 4 289
52 51
C6, C10 Yy +30y> +--+5y+1
11 Y2 — 14y o 21y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.280725 + 0.9844941
= 0.654643 + 0.0424021
= —0.595405 — 0.4902641

0.986067 — 0.9222091

5.57805 + 0.783701

= 0.280725 — 0.98449471
= 0.654643 — 0.0424021
= —0.595405 + 0.4902641

0.986067 + 0.9222091

5.57805 — 0.783701

= —0.377650 + 0.9543601
= 2.41555 — 1.602561
= —2.28692 — 0.234041

—0.88919 + 2.405021

4.23135 — 7.496781

= —0.377650 — 0.9543601
= 2.41555 + 1.602561
—2.28692 + 0.234041

—0.88919 — 2.405021

4.23135 + 7.496781

0.508227 + 0.8058471
—0.742914 4 0.7247171
0.658582 — 0.6708291

—0.0437779 — 0.02699531

1.92084 + 0.192121

0.508227 — 0.8058471
= —0.742914 — 0.7247171
= 0.658582 + 0.6708291

—0.0437779 4 0.02699531

1.92084 — 0.192121

= 0.422777 4 0.9959371
= —0.819376 — 0.0803321
= 1.105830 + 0.2629151

—0.04250 — 4.543571

1.88793 + 7.263721

0.422777 — 0.9959371
—0.819376 4 0.0803321
1.105830 — 0.2629151

—0.04250 + 4.543571

1.88793 — 7.263721

0.889760 + 0.0394461
—0.980477 + 0.4759851
—2.22766 — 0.071161

9.80914 + 2.739251

5.98913 — 0.866491

0.889760 — 0.0394461
= —0.980477 — 0.4759851
= —2.22766 + 0.071161
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9.80914 — 2.739251

5.98913 4 0.866491




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.885810 + 0.0663071
= 0.908664 — 0.7677491
2.15596 + 0.132001

7.94022 4- 8.910571

3.69132 — 5.274481

0.885810 — 0.0663071
= 0.908664 + 0.7677491
2.15596 — 0.132001

7.94022 — 8.910571

3.69132 4 5.274481

—0.165811 + 1.1212001
1.83757 — 0.405411
—1.130520 — 0.5446121

5.10574 — 3.328611

8.68775 4 2.826451

—0.165811 — 1.1212007
1.83757 + 0.405411
—1.130520 + 0.5446121

5.10574 4 3.328611

8.68775 — 2.826451

—0.860610 + 0.0230851
= —0.066448 — 0.2519521
0.153988 + 0.9720761

4.28726 — 2.507471

2.75724 4 2.686711

—0.860610 — 0.0230851
—0.066448 + 0.2519521
0.153988 — 0.9720761

4.28726 4 2.507471

2.75724 — 2.686711

0.529646 + 0.6751761
0.520778 — 1.1655101
—0.287257 4+ 0.9106251

—0.40755 — 4.207251

0.31053 + 6.853721

0.529646 — 0.6751761
0.520778 4+ 1.1655101
—0.287257 — 0.9106251

—0.40755 + 4.207251

0.31053 — 6.853721

—0.511753 + 1.0243501
1.26087 — 1.890551
—1.78707 4 0.703931

2.58119 4 9.829911

3.68059 — 9.746491
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= —0.511753 — 1.0243501
= 1.26087 + 1.890551
= —1.78707 — 0.703931

2.58119 — 9.8299171

3.68059 + 9.746491




Solutions to I V—1(vol + /—1CS) Cusp shape
u = 0.848851
a= 1.68388 2.68190 3.52270
b= 226297

u = —0.245968 + 1.1247901
a = —1.86661 + 0.471741
b= 1.248780 + 0.4972881

5.88940 + 2.237031

9.81871 — 3.171711

u = —0.245968 — 1.1247901
a = —1.86661 — 0.471741
b= 1.248780 — 0.4972881

5.88940 — 2.237031

9.81871 4 3.171711

u = —0.460826 + 1.0631501
a = —1.28681 + 1.465441
b= 1.53108 —0.393301

4.31532 + 4.632891

7.37710 — 5.039961

u = —0.460826 — 1.0631501
a = —1.28681 — 1.4654471
b= 1.53108 + 0.393301

4.31532 — 4.632891

7.37710 + 5.039961

u= 0.249339 + 0.7867201
a= 0.457886 + 0.5140451
b = —0.154878 — 0.5049491

0.450033 — 1.2347201

4.74084 + 5.503581

u= 0.249339 — 0.7867201
a= 0.457886 — 0.5140451
b = —0.154878 4- 0.5049491

0.450033 + 1.2347201

4.74084 — 5.503581

u = —0.457667 + 1.1813601
a = —0.427283 4 0.5986811
b= 10.526120 — 0.2363351

5.00504 + 4.266041

u = —0.457667 — 1.1813601
a = —0.427283 — 0.5986811
b= 10.526120 + 0.2363351

5.00504 — 4.266041

u = —0.626363 + 0.3651581
a= 0.331365 — 0.9067211
b= —1.48252 + 0.068871

0.72885 — 5.402231

0.76570 + 5.298491




Solutions to I}

V=1I(vol + /=1CS)

Cusp shape

—0.626363 — 0.3651581
0.331365 + 0.9067211
—1.48252 — 0.068871

0.72885 + 5.402231

0.76570 — 5.298491

—0.203290 + 0.9044041

—0.625397 + 0.2289241
—0.107645 + 0.5106581
1.145420 + 0.0983391

1.98030 — 0.480051

3.97181 4 0.104681

= —0.625397 — 0.2289241
—0.107645 — 0.5106581

1.98030 + 0.480051

3.97181 — 0.104681

U
a

b

u = —0.707531

a = —0.0272312 1.69898 7.12320

b= 0.597785

u= 0.463049 + 1.2380407

a = —2.55511 — 0.889031 6.39075 — 4.676321 0
b= 3.29992 —1.711011

u= 0463049 — 1.2380407

a = —2.55511 + 0.889031 6.39075 4 4.676321 0
b= 3.29992 +1.711017

u = —0.451975 + 1.2460101

a = —0.987426 — 0.6428671 8.11586 + 2.139771 0
b= 0.437332+ 0.7951791

u = —0.451975 — 1.2460107

a = —0.987426 + 0.6428671 8.11586 — 2.139771 0
b= 0.437332 — 0.7951791

u = —0.475337 + 1.2407601

a= 0.772991 + 0.8987481 7.94604 +- 7.289461 0
b = —0.203290 — 0.9044041

u = —0.475337 — 1.2407601

a= 0.772991 — 0.8987481 7.94604 — 7.289461 0
b

U

a

b

U

a

b

1.145420 — 0.0983391




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.427798 4+ 1.2653701
—1.75085 — 0.812801
1.97471 — 1.351851

12.02740 + 4.309081

0.427798 — 1.2653701
= —1.75085 + 0.812801
1.97471 + 1.351851

12.02740 — 4.309081

0.500173 + 1.2440001
= —2.42580 — 1.289951
3.39254 — 0.692091

11.4963 — 13.89461

0.500173 — 1.2440001
= —2.42580 + 1.289951
3.39254 + 0.692091

11.4963 + 13.89461

0.445030 + 1.2648701
1.99511 + 0.915811
—2.37247 4 1.314941

13.79830 — 1.968961

0.445030 — 1.2648701
1.99511 — 0.915811
—2.37247 — 1.314941

13.79830 + 1.968961

0.488189 + 1.2515101
2.39866 + 1.226031
—3.25277 + 0.886451

13.4799 — 7.67311

0.488189 — 1.2515101
2.39866 — 1.226031
—3.25277 — 0.886451

13.4799 + 7.67311

—0.287199 + 0.5479021
—0.76127 — 1.804881
—0.88257 4+ 1.120821

—2.08809 + 0.786071

—3.98062 + 1.523801

—0.287199 — 0.5479021
—0.76127 4 1.804881
—0.88257 — 1.120821

u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b
u
a
b

—2.08809 — 0.786071

—3.98062 — 1.523801




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.385374 + 0.3216281
= —0.10441 — 1.836861
0.102691 + 0.5717811

—1.79468 + 0.958891

—4.14280 — 1.579371

0.385374 — 0.3216281
= —0.10441 + 1.836861

U
a
b
U
a
b= 10.102691 — 0.5717811

—1.79468 — 0.958891

—4.14280 + 1.579371
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IL I =(—u*—ud® —u?+b, —u’+a—u—1, v’  +u*+2u® +u?>+u+1)

(i) Arc colorings

az = -1
—u3
a9: u3+u
—uB
as = \u*+ud+u+1
w+u+1
as = \u* 43+ 2

u+u+1
ar = \u* 4+ v+ u?

(ii) Obstruction class =1

(iii) Cusp Shapes = —2u? + u3 + 2u

11



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

“ (u—1)°

C2,C4 (u+1)°

cs3,Cy u®

& ub—ut =20 4wt Fut1

6 w4 ut F2ud 4w Futl

cg, Co WHut =20 - tu—1

C10 Wt 20— tu—1

c11 W =3ut 4w - —u+1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
5
C1,C2,C4 (y_l)
C3,Cr7 y5
C5, €8, Cg y> =yt +8y° =3y —y—1
€65 C10 Y43yt Ayt -y — 1
cin y? -yt +8y° — 32+ 3y — 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 VvV—1(vol + /—1CS) Cusp shape
u=0.339110 + 0.822375]
a= 0.77780 + 1.380131 —1.31583 — 1.530581 0.02124 + 2.624561

b= —1.206350 — 0.3408521

u= 0.339110 — 0.822375]

a= 0.77780 — 1.380131 —1.31583 4 1.530581 0.02124 — 2.624561
b = —1.206350 + 0.3408521

u = —0.766826

a= 0.821196 0.756147 —2.67610

b= 0.482881

u = —0.455697 + 1.2001501
a = —0.688402 4 0.1063401 4.22763 + 4.400831 0.31681 — 3.974071
b= 10.964913 + 0.6218961

u = —0.455697 — 1.2001507
a = —0.688402 — 0.1063401 4.22763 — 4.400831 0.31681 + 3.974071
b= 10.964913 — 0.6218961

14



ITI. u-Polynomials

Crossings u-Polynomials at each crossing
1 (u—1)%) (2 — 665 + - + Bu— 1)
C2 (u+1)°)(u®? 4 22u° 4 - — 11u + 1)
c3, Cr u® (u”? 4wt 4 - — 23207 + 32)
Cq (u+1)%) (%2 — 665 + - + 5u— 1)
cs (u® —u* —2u® +u? +u+ 1) (u? = 20 - — 25u — 17)
Co (w® +ut + 20+ +u+ 1) (W + 20+ —u—1)
cs, Cg (u® +ut — 203 —u® 4 u—1)(u®? — 205 + - — 25u — 17)
€10 (u® —u* +2u® —u? Fu— )W+ 20+ —u—1)
c11 (u® — 3u* + 4u® —u? —u+ 1) (u? = 30u° + - — 5u+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
1,4 (y — 1)°)(y"% — 22y 4+ + 11y + 1)
€2 (y = 1) (y°° + 220" +--- — 349y + 1)
c3,cr yP(y°% — 33y°1 + -+ — 14848y + 1024)
¢s, 8, Co (v° =5y +8y° —3y” —y — 1)(y** —58y°" + - -- — 2291y + 289)
c6, C10 (W + 3y  +4y° +y* —y — 1)y + 304" + - + 5y + 1)
ci1 (v° =" +8y° = 3y* +3y — 1)(y” — 14y” +--- + 21y + 1)
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